—

i

l'.‘

al System of Units

=X Prefixes  Symbols

000,000 = 10'> penta
D ; 00,000 = 10'2 tera
1.000,000,000 = 10° giga
1,000,000 = 106 mega
1,000 = 103 kilo
100 = 10?2 hecto
10 = 10! deka
0.1 =407 deci
0.01 = 1072 centi
0.001 = 1073 milli
0.000001 = 1076 micro
0.000000001 = 1072 nano
0.000000000001 = 1012 pico
0.000000000000001 = 10715 femto

Units of Measure

Linear Measure

1 foot (ft)

1 mile (mi)

1 chain (ch)

1 rod (rd)

1 fathom (fm)

1 nautical mile

1 kilometer (km)
1 km

1 centimeter (cm)
1 millimeter (mm)
1 angstrom (A)

1 micron (u)

Area Measure

1 square mile

1 acre

1 acre

1 mile square

6 mile square

1 square meter
100 square meters

10,000 square meters

100 ares
100 hectares

= 12 inches (in)

= 5,280 feet (ft)

= 66 ft

= 16.5 ft

=6ft

= 6,076.115 ft

1000 meters (m)
=10°m
0.01m=102m
=0.001Tm=103m

1

= 0.001 mm

= 640 acres

= 43,560 sq ft

= 4,840 sq yds = 160 sq rods
= 1 section = 640 acres

= 1 township = 36 sq miles

= 10,000 sq centimeters (cm)

= 1 are (a)

= 1ha

1 hectare (ha)
1sg km

0.0000000001 m = 1010 m

Conversions

English-Metric Conversions

1inch

1 foot

1 yard

1 mile
1'sqinch

1 sq foot

1 sq yard

1 sq mile

1 sq mile

1 acre

1 acre

1 cubic inch

1 cubic foot

1 cubic yard

1 quart (lig)

1 gallon (U.S.)
1 ounce (avdp)
1 pound (avdp)
1"short ton

1 horsepower

Metric-English Conversions

1 millimeter

1 meter

1 meter

1 kilometer
15q centimeter
1 sg meter

1 sq meter

1 hectare

1 hectare

1 sq kilometer
1 cu centimeter
1 cu meter

1 cu meter

1 liter

1 cu meter

1 gram

1 kilogram

1 metric ton

1 kilowatt

= 25.4 millimeters
= 0.3048 meter
= 0.9144 meter
= 1.609 kilometers

= 6.4516 sq centimeters

= 0.0929 sq meter
= 0.836 sq meter
= 259 hectares

= 2.59 sq kilometers

= 0.4047 hectare
= 4047 sq meters

Il

= 0.946 liter

= 0.003785 cubic meter

= 28.35 grams

= 0.4536 kilogram
= 907.2 kilograms
= 0.7457 kilowatt

= 0.0394 inch

= 3.281 feet

= 1.094 yards

= 0.6214 mile

= 0.155sq inch

= 10.764 sq feet
1.196 sq yards

= 2.471 acres

= 0.003861 sq mile
= 0.3861 sq mile

= 0.061 cu inch

= 35.3 cu feet

= 1.308 cu yards
1.057 quarts
264.2 gallons (U.S.)

I

I

= 1.341 horsepower

16.39 cubic centimeters
0.0283 cubic meter
= 0.7646 cubic meter

0.0353 ounce (avdp)
= 2.205 pounds (avdp)
= 2205 pounds (avdp)
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